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9321742697461355-
325674395820187463
@ 4 l

(b) 3
©
@

4138

WY, B3 OBI 15% mwns STOTRY
WORMCHY, DeF TS TRy 40%
SPTI, WY e Detor snroms.

WO F B 450030 DT ?

(@) %600
(b) 2800
(c) T700
(d) 7,200

‘@, 29 0% XRRETO. ‘A’ 03 ' oD FoOW.

‘&’ 031 &' 0% 30T, ‘@’ 03 &' o FooW.
B0, ‘e’ 030 &' 1 &ert F00rTEsTS I

(a) ©g

(b) ©% i

(c) onsd ,
I

(d) SN _3

How many 4’s are there preceded by 7
0

but not followed by 3 ? |
5932174269746132874138
325674395820187463

(a 4

() 3
(c) 6
(d 5

A Man spends 15% of his monthly
income on the rent and 40% of the
reminder on clothes. If his monthly

savings are T 306, find his annual income.
(a) Y600
(b) . T 800
() T700

(d) T7,200

A is B’s sister. C is B’s mother, D is C’s

father. E is D’s mother, then how is A
related to D ?

(@) Grandfather -

| ' ®)  Grandmother -

(e) I'Jaug]'-lte;- o

(d) Granddaughter
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4. R0, 2,000 SnFB?, 0

om the :
Claptl from . 'op and 3gm
FYA0T 38 SO n%édqu ° G € bottom ' in 5 Class, Hqy,
p Students are there in the ki 7 y
FTvT . o
BRFBQ R Do, P o @ 4
(a) 45 :
®) 47
(b) 47 _
© 46 "
= / / v
(d 48 . 7 Lo @ 4

5. 3n3 T, 2,070 dedodnN TRRNS 5-.,; Four of the following are alike in a

(o, omsd) o 5008 1.0 & Momnd. certain way (English language) and so
- form a group. Which one does not belong
(@ ey - ' (8 Tooth
(b) 7y, i (b) - Chin
(c) Swrd tc)" ‘Nose
@ 8 | (@ Ear
. v~ 1

| , i
6. ey 1 007 100 URTNS en xogs Moy | 6 Ifyou write down all the numbers from !
s
2

WIS, 3 O IR, wWod ”dmm? to 100, then how many times do you

\ 2 Wﬂte?’?
@ 11 P, oy i, o
BRI LTS TEY "
(b) 18 &oqiﬁl‘qln\q‘li ® 18 ’4h
© 20, % (©) 20

@ 21 - | @ 2
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1,2,6,15,31, 56,91
R

(a 31°

(b) 15-

() 56

) 91

B SINSINVY, oINS I Jeaorss,y,
INFNY SRODI :.a‘c»z.)ot;s‘?.ﬁigt 2TWORIS 9
o T p—
DT, PFNEL)

o @
(b) &
o @

81 FNIINYG e F* TeawuZ D,
SRFRY SRS BoWOFRTY QSOOI ?

(123D, 8T, Cjo}.plelal=0))

|
|
1
@ ©
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d the wrong number in the series :
Fin _

1.2,6,15,31, 56,91

@ 31
®) 15
(c) 56
@ 91

Which of: the following Venn-diagram

correctly illustrates the relationship

among the classes ?

Tennis fans, Cricket players, Students

Which of the following Venn-diagram
correctly illustrates the relationship
among the classes ?

Carrot, Food, Vegetables

(a)
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h e 110, _
10, wom wad 10 oH9e 30 - A car completes journey in 10 hours, the
' $.60C.
mmrmmd - orF 42 first half at 42 km p-h. and next half a
2 &qu
D3rosd Fence, e fa;};aoﬂfo 48 km p-h. Find the total j journey.
3. W, s )
48 8.Q0¢. T 3rioed Benz?, mdﬁ (@) 450
T, 030 INaE Be0 9F,? -
7 ‘ (b) 448
(a) 450
(b) 448 - () 400 -
(c) 400
@ 350 (d) 350

11, erfeodsy evgomnss, =200k TR0~ 11.  If South-East becomes North, North-East

becomes West and so on. What will West
OB BY et 0BTV, .

T DTS 2 become ?
(a) 85, (a) North-East

. (b) o0z, (b) North-West
(c) ©riea®d (c) South-East
(d) oI, (d) South-West

12, o0 OF RedRerEohs Sozg Xds | 12. One morning after Sunrise, Suresh was

Bowd  SWOR 0T . Fowgy Sk standing facing a pole. The shadow of
Qa0TemoN B3S weg RO 3R, oing the pole fell exactly to his right. To
QTR DTOOROTVS ? which direction was he facing ?
(a) TSF . (a) East
() wepo (b) West

1)
© =2 (c) South
d) ev3s

(d) North
B I
-6
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16.
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W, T,TO 2,080 J&aeapa'ma% 8,000 gp
nent dedxTS W 10,000 on. A
SRTRT: S SR, H®D (%) ey
BT 2 | |

@ 20%
(W/ |
(c) , 30%
C) ' 509

b4

d14, 55224897 -7=48 913, 10~ 10
2.,

=" g atPo, Ty Sord LBOND.

()
(b)
(c)
(d)

80
99
91
56

WPIEQ, O, wow BreInes ?

(@) 3
(b) S
(c) 4
(d 2

FOWOINT ;‘o‘oa.‘{s oI, 83030 HARCWD. -

1'2:30:: 14:?
(a) 36

(b) 35+«

(c)- 28

d) 42 | )

13.

14.

- 18,

(b

[f a merchant purchase a sofa for ¥ 8,000
and sells it at ¥ 10,000. How much %

profit does he make.

(a) 20%

25%
/

) 30%

(d 50%

If 5—5=24 and 7— 7 = 48, then find the
value of 10-10=7

(a) 80

(b) 99

() 91

(d) 56

How imany rifht angle does the square
have ?

@ ‘3
(b): 5
() 4
@ 2

-

Find the Missing Numbers.
12:30::14: 2

(@ 36 |

(b) 35

(c) 28

d 42

Latest Sarkari Jobs, Govt Exam Results,
i O DI ONe i



l 3 i 3
@ﬂ@ﬁwwg‘ .7 In a certain Language “EDITION” is
2,000 E’DC}F""% mﬁ@é?n’ a‘&, (53':3’%3‘ written as “IDETNOI”, then “MEDICAL”
4 s
ooz o ST e s witten a
Sood) Q0T wﬂoﬁ@mg . o
gy — .
SraRRNNS (pas) ~ @), DJEMILAC
' R3S
S (b) LACIMED
(a) e <
(b) @@@km@ma (c) DIEMCAL

(c) amam‘:‘wao‘
| (d) CADILEM

(d) 2RI RIS

18. Radhika went 50 metres south from her

0 ooe. TRT B! 6%
e ] left and went

0oQ% © .
2reh, 3 house, then turned
B @d!iédoﬁm o 20 metres, then turned north and went
ougor, 35N 30,83, wRe 3 30 metres. In which direction is her
ot wonis 4R D4R T house from this place ?
@ w3  (a) North
(b)  F (b) South-West
() HSF (c) East
(d) oI, . I(d) North-West
' L L - iven
F9N= BodRFoBRPOT, Wedodng aﬁiﬁaﬂ:ﬂ % 19. {chqose the odd word from the g
L ' .. glternatives.
(a) oxwedRe I & Euope
© o } (b) Africa
DT .
() s | © Asis
) = | |
! ) Canada
l
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20.

21.

22.

QTR m‘g BBeLITE0 & ong

T Y ;
B TRT LTI @ cypeg . g:‘!,.
Tenen JRZon T 77 Sroe e:’a .
SRTY L3O @ 0TS gy gﬁ'w m:;
QOB LMD & oo, St
Bened SpImN T 73 Brivee, BTG
TONLed 2
(@) 4,723
(b) T13,Z17
() T15214
(d 17,213
DTS ROF) ), Rodesmon
LIV DGO 0T WIET, o
(=3%,5°) O,  RoFIR, et
LTODWIOT ?
(a) TRz
(b) DRI
() TR
(d) I RAITR

|

Ry wgos  ALowo 28 Tomd |
Boeeoss 08 |3, ekt INFT |

lpeDt 5 dom> osdd BFOITD,
9T O3 TOTTOTD BTIT ?

(@
(b)
(©)
@

3500
nolelalnple]
20500
BrezTT
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21.

22,

- ]
Two bus tickets from city A to B and thre

tickets from A to C costs T 77 but three

tickets from City A to B and two tickets
from city A to C cost ¥ 73. What are the

fares for cities B and C from A ?

(a) T¥4,T723

(b) 13,317
() T15%14

(d T17,%13

When “SIR” is coded as “PﬁPlPIE:’, then
how “MAN? will be coded ?

(a)
(b)
(©)
(d)

PMANP
PMPAPN
NANP

MPANP

Kavya’s birthday is on Monday 28"
September. On what day of the week wil]
be Anika’s Birthday in the same year if,
Anika was born on 5" October ?

(a)
(b)
(c)
(d)

Saturday
Tuesday
Wednesday
Monday




23. dUn3 RROeECHRR X

24.

TG DRTOOD et

S+3*8"'12/4=3

WUy S0Rd LROWD:

5+3«8-12/4=3 @) +
(@ +- - (b) i,
® -/ . .
(c) + =

@ +/v | @)+

BOT TS HFOS. A0OR0T %08 | 24. Todayis Varun’s birthday, one year from

- (0

285.

IRFTG,, BT Voo 12 ITFNY éoOd . today, he will be twice old as he was 12
BT SOPAT SOR TENDIL. 20T years ago. How old is Varun today ?
~N [%] - : . ‘
T TR ? o 20
‘(@) 20 (B)4 25
-". 1 '
(6)7723 c) 22
22 ‘ LA (0 \ i
| @ 27
@ 27 _
7:34,6:1,808,5:7 25, 7:34,6:15,then5:?
. a) 17
(@ 17 (a) ik
(b) 41 o (b) 4l
© 24 e %
(d 33 @ 33

?

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




26. 7208, 5R0es Recio fmmsey Ry 9

(@) 3 o

(b) wIBORS® IBH

(c) mng pplelal

(d) aRnYY odneyme wey

27. deuTHS  Badescwd

XOCInG WBNY roomy wody ARa.

5035=20

(@ x x,x

(b) — +, x
(c) x,+,x
(d) == X

28. TBOODh FpOexTRY_ Ao%08,R0T:T.

(a) ooz x5oF T, B9

(b) YoRe AN, BB

(c) eom, 13 00T, V0D

d) BBOD TR IS |

NOBROTNR,

=11 =

26.

27.

28.

Latest Sarkari Jobs, Govt Exam Results,

Who was the first Home Minister of
Independent India ?

(a) Krishna Menon

(b) Jawaharlal Nehru

(c) Mahatma Gandhi

None of these

(d)

Select the correct set of symbols which

will fit in the given equation ?.
5035=20

(a) x’ x’x

(b) - +,x
() x,+, x
(d) — = X

Delhi Police is controlled by
(a)  State Government, Delhi
(b)  Municipal Corporation, Delhi
(¢)  The Union Home Ministry

(d) Law Minister of the Delhi

A Know More I
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29. s ARSI Rone®

@) om0t
(®) Sne

(©) snadin
d) emeodn

IS T 8ers a%mmm@mj
ROTHF ?
| a8 Borne

8 Xodne

- ORmorodne

=9, o ee

NS oIn® @, nox zos eu‘a@
Jmnes m@asnm Rr00d ?
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33. E T .003¢ .
| 33, E Sharp is same

(@ B @ B
@ 8 ® G
o © F
@ C @ C
34. B HeeRRYY PO 3T ? 34, Which of these pair is a tone ?

(a) E
2| =

A
@ ﬁ @ 5
35. 83 530000 (tr) BRSeRd ? : : 35. What is name of this ornament tr ?
(a) 80Oy (Tumn) . | (a) Tum
(b) &&°(Trill) ' (b) Trill
(c) ecpna Sedrows (Upper : (©) Upper Mordent
Mordent)

: d L
(d) BaD Sedrosr (Lower Mordent) (d)  Lower Mordent

36.  £3368 Soedd owT DI VFF ? 36. Over a note means
(a) evmgors (8)  Accent
b) oo ‘ (b) Pause
© mmun (C)_ Staccato
@ e (d)  Octave
' -13-
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o ? 1 37.

ngﬁw S B54320 &Jﬂ JE wthh family does clarinet belongs to ?
(@) Brass

(a) &Y
()  Woodwind

b) EoE
(¢) Percussion

(c) :53*.;‘@3:5as

d .
(d) aor (J02ni0) (d) String

- ("oouR) €Ot 38.  Among these instruments pick the odd
one.
T ts (83,083 '
(8}, Trumpets (RE) (@) Trumpets
(b) Clarinets (520¢°) () Clarinets
(c) French Horn (5,00 &) (c) French Horn
(d) Cymbals (&ows:} (d) Cymbals

WOESQ,  ohwghdcbe @) | 39, Which clef does the Euphonium and

¢34, 00T O3S Fp* WIROIT 2 | Trombczpe use in the band ?
(a) &=@ (@ Treble

(b) e:sd% (b) Alto

(c) &= "~ (c) Tenor

(d) wox* |  (d) Bass

s DRI o, R0 3 40.' Which metronome mark shows the
A ADISADIARM LTINS &aeaﬁogcgr, slowest beat per minute ?
(@ J=112 @ J=112 |
(b) J=72 | (b) J=72
© J=9% | I @ 4%
@ J=120 | @ J=120
-
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42.

43.

Egg spordS WETSIID dezagey o
337

(o) TR L Soney

3,5 O, BORT Sy

PRI ﬂow@@w"‘%%

LU WTD wﬁm’b@ag

(b)
)
(d

AT S, ety oty
(a) 8

(b) 12

(©)
(d)

16
BRNPQ, CVoRTe ¢

£0INERTBY, & FPTO ¥2Y 3y Bb

ROFEFR cdss L35 sSod), RTINS ?

@@ A
(b) B -
() C

(d B®

CRE eTrinie H0L, esm038), 1005 ?
()
(b)
(c)
(d)

503‘.}_.@.3
JE*R0E*
YT

)

Bodnis

e —

=18~
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41.

42.

43.

44,

is the pitch of the Trombone
How

change ?
By pressing the valves

(a)
(b)
(©)

(d)

By moving the slide

By placing your hand in the bell

The pitch cannot be change.

How many notes do we have in an
Octane ?

(a) 8

(b) 12

(c) 16

(d) None of these

What note does the trumpet and Bb
clarinets play to sound A on Piano ?

(@) A

(b) B

¢ C

(d BP

Which sections do the cymbals falls

under ?
(a)
(b)
()
(d)

Brass
Woodwind
Percussion

Strings
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45.

46.

47.

48.

30R

250
Q0RO LTENY LpossR? g
QOTD 8601)037‘3%53'
(@) oI

(b) ewom OZ,08
(c) wgF 8Ied

d) e QT,08

rotde 3o oo upneR) I

RO RIS ?
(a) woTd l'%
(b) 20T WeeF*
(c) 208

(d) oz RoRoey

3R 303) XWt3Rea® 0BT ?
(a) @Te3oD vy
(b) XONES FTT VT

(©) ez

(d) TR TS WHWY BT sy

83359 PN WHB D 9

() et Aoss oy eotigy
(b) =ocdeexss Wi\am“mo{!oc?
(c) IBert DRI

(d) 718w DRORYES
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47.

48.

An Interval that is eight notes apart is
called |

(a) Octave
(®)  Whole rest
(¢) Half note

(d)  Quarter rest

What connects two notes that are the
same ?

(@ atie
(b) abeat
(c) abar

(d) achord

What is the tone and Semitone ?
(@) Length of the Note

(b): Musical Knowledge

(c) Expression

(d) The distance between two adjacent
Notes

What is the use of Note Values ?

: (5)- Measures the number of beats

(b) Explains about the composer

(c) Howto play

(d) Explains about the tempo
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49.

50.

51.

52.

5 BB BROX ?
C L 49,
Ai‘l
o) —
S " in E Major
(a) Topeer T,E, E w0, (a) Perfect cadence 1 oo
: i ajo
(b) =R RIS A REBTRY, (b) Plagal cadence 1N Pitn AJMajor
€
() esapeor BB, A BRRORY, (c) Imperfect cadenc
(d) [RNYY, CIRJITR O, (d) None of these
' ber of Crotchet beats in
Wil Boas 50. Addthe total num
:; e ;;Eri f wa:‘:;%ﬁ::?g& - 35; oot é ? these note values and re;ts
i : ) + +
_ mm * J "'_J
(a) 4 (@ 4
(b) 5 (b) 3
(c) 1 () 1
(d 3 @ 3
wode RONTE, FRRI o IWS | SL What does two or more different tones
D1 RORTO HR> T8RS ? sounding at the same time create ?
~
s £ Harmon
(a) moRVTX, (a) ony
(b) Bewo (b) Coda
¢) Band
(c) w0 (c) Ban
) oS (d Mood
(d) s
Xrg 060 TRWILD B3 BT wom> | 52. Circle one clef of this scale to form minor
B ' scale.
{7 o PP F _
ot — e
=0 > s "
| (-a)zs 830 g5 (@) Treble Cleft
(b) Bass Clef
b) WX EF
o : o ' (©)  Alto Clef
(c) @8R
(d) g . (d)l Tenor Clef
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—. hich is
56. TLIODI) VWS TV IR, g o in treble clef Whic

§6. Name the not

: ing its
2 ©F) WOROWRT Wt gy written in Bass Clef without changing
BTN ? pitch.
£
1

== ==

D) )
o e ==

) )]
(c) (©) ;)-__

) a: [~

A =3
(d) lry (d) ﬁw

D) D)}

57. cin® W R o7 T WS v §7. Which B Flat is raised by a tone i.e.,

UoKodesd (2 Boosdeedniwd) ) (2 semitones) we get ?
TRER0ZeTS ? | (@) B Natural
W Py (b) C Natural
@ Copes (¢) B Flat
it o I d cC Sharp
(d) C oz |
8. BION | 58 Name the note circled
= !J§ maﬁ wmc}‘éotbﬁqi ~ . ) L
..dl._
4 AY
) I s a < o
-
(@ ¢
(@ C | ® &
(b) E _
' ’ ! (¢)
() c* | @
(d dA 19 dA
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¢h among these are not grouped .
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©) E $Q30° o Node
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70, 2050 SEES Bb B0 edratn
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(b) W—

[ =] 2
P | |
=
H—F£—

(©) . =

=
e

©) p— '

oy—

05,

i

ot BT 88 TN ach'mox. !
g . =

9

B Wl | ']
)] 1

F soar's
C ma'F
G T’
D oo

% g Dewors gosdes, WEE

@) C o
b)) D $Ro*
() c# S
d) p# SHRc*

il

-

65.

66.

(a) F Natural Minor Scale
(b) E Minor Chord -
(©) E Minor Arpegglo
(d) E Minor Broken Chord
Select correctly one Octane Bb ma_]ocll'
Arpeggio in Minims going down an
them up.
(a) | E
e ; ¢
Ol Ci== =
Gl Ia 1 j = Ila
) Har—F2J—=H
)
2 —p_—]f;P—T— -
(d) % = ====

Name the key of this tune written below.

te
' o o
i 11 & '
N !
(a) F Sharp
(b) C Sharp
(¢) G Sharp
(d) D Sharp

Relative Minor of E Major is

(@) C minor
(B) D minor
(¢) C* Minor
(d) D* Minor
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67.

68.

69.

70.

8 5, 030 BROX-

=

Soezsor 51
Tompear 4™
Togpesr 5T

(a)
(b)
(c)

(d) Qe st

IR TTY Gt o R VISR ?
(a)
(b)
(c)
(d

Lpleniy
m@@ea‘
wedneods
o] Dl {ol

=] RPN oY  FOFpor

4 300 9

(a) E
.

A
(c)

C) %

o0T
C oo &iﬁamd 63¢ ﬁJan o;gcamzt .

(a) Ab
(b) A
(c) A*

‘d D

B e S——

67,

68,

69.

w2

S

Name this Interval

=

Major 5t

(a)
(b)
(c)
(d)

Perfect 4t
Perfect 5th

Imperfect 5t

Which instrument uses a double Reed ?
(a) Clarinet

(b) Saxophone

(¢) Oboe

(d) Recorder

Which one of these interval is perfect
49

Name the interval of Minor 6% from C.
@ A°
(b) A
© A
@ D
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srtiss O3S SMOSNY SRy 3
208 35030RNIZTS ?

(a) ORSRTO

(b)
(c)
(d)

;i%mcb
SoneRtd
Jereo

73,
RRRIEoNTcOZ 3.

@ 448,800 SRIEO (85 HO)
(b) 422,400 @M (80 FYOND)
() 3,80,160 es@risto (72 SON®)
@) 3,64,000 saREd (69 FHRONP)

M odaeg dreq OIS g,edd‘b LI

RO 9
()
(b)
(c)
(d)

Siplea T,8c3R0TH (BN,) ©03 8

|

7.

73.

| 74.

()

- (b)

(@

(ay Sodium Chloride
(b)
(©)

Potassium Manganese
Hydro Chloride

Zinc Oxide
Which of the Karnataka City is known as
‘ Aramane Nagara' ?

(a) Mangalore
Mysuru
Bengaluru

(c)
(d)

Belgaum

Each ciegréé of Latitude is equal to
(a)
(b)
©)

4,48,800 Feet (85 Miles)
4,22,400 Feet (80 Miles)
3,80,160 Feet (72 Miles)

3,64,000 Feet (6_9_ Miles)

Santhosh Trophy ié associated with
which sport ? |

(a)
(b)
(c)
(d)

Cricket
Football
Volley Ball
Basket Ball
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75.  BosgR w0 300

()
(b)
©
(d)

76. sworus oomE JRI 8P

joa®
Qe riees’
W o, e’

R E53* 230U
RnjepleselneioL S

oI ?

(a) | 8 ¢ BSper SReBS
(b) & e T e ZRT'
©  Bea.d. Zom

(d) i, O, BSOF

0370 ?

DB DR

77. %O To%,T COGRR AR ?

(@)
(b)
(c)
(d)

78, SUNIIUQ, 0TI T, Wtomgsn o

. TP’

noGos

RWOHo*

SRYo*

WBoDVL YIS ?

(a) FOSMYE DTy
(b) IS Teesdond
(c) ons

(d) 3eT T

78.

76!

1.

l
l
!
| 78.
|
|
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Who is the father of Computer ?

(a)

(b)
(c)
(d)

Bill Gates
Charles Babbage
Steve Jobs

Narayana Murthy

Who is the current DG & IGP of
Karnataka State ?

(a)
(b)
(c)
(d)

Shri Alok Mohan
Shri Praveen Sood
Shri P. V. Sandhu

Dr. R. P. Sharma

Which of the following is the capital of
the State of Assam ?

(a)
(b)
(©

@

Dispur
Guwabhati
Jabalpur
Nagapur

Which among the following is not a book

written by Kuvempu ?

(2)
(b)

©
@

Malegalali Madumagalu
Nenapina Doniyali
Yaana

Shudra Tapasvi
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79.

80.

81.

82.

=

IRFTRBI P oy,
(a) oaono®

(b) drees

(c) BRoowr

(d) Fgor

CINT IR QYO 030 BAZE 20 9

(a)
(®)
©
(d)

UNS[OY, oIRT  RoASE  soR> | 8.

1956
1945
1932
1940

TS0 ﬁc:fxéda / c:sr;s;g‘ XD By ?

(a)
(b)
(©)
(d)

(a)
(b)
(c)

(d)

730. D.&0°. eozﬂeqw

8¢ . AT 0000

@, 0ordeos, JyTT*

b¢ ©QR GFT0 SoB,0"

S ROROEODFIE, O, YTONT.

T neo T2, 85,

PR THSTTRTT

PR, Af DR ST
BT QT0 |
A atng, Aoy FITOTT ;Is

9,

80.

82.

. current i8
. of electri©
The unit ©

(@) amPere
(b) decibe

(¢) coulomP

(d) cycle

In which year United Nations officially

came into existence 7

(a) 1956
(b) 1945
(c) 1932
d) 1940

Who out of the following was not a
Member/Chairman of Drafting Committee

of Constitution ?

(a) Dr. B. R. Ambedkar

(b)  Shri N. Gopalswamy Iyengar

(c) Dr. Rajendra Prasad

(d) Shri Alladi Krishnaswamy Ayyar

Our Parliamentary system is based on

(@) Proportion representation

(b) Male franchise
(c)

Male, female and child franchise

(d)

Universal adult franchise
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84.

85.

5.
- —
SO ) 8,3 / aR% I‘ 83,
(a) oTFZx 0, % |
|

(b) o3neg

(€) Dnew I

(d oo

9N AR, FOKRAP VR0 AR? | gg,

(@) BB BOVGOE 20T G

(b) AT RODTORT 2000 LPNREY, .

(c) = wmrnsd Iy mone wif N
TRETORITT, TR0 B 250
WREW wc;eé'abgd

(d) SNV IRIER ey

FORA LXTTT wﬁ)ﬁg’, EADIOT. T ) 85,

TRFTE, STOPRID.. |

(a) 1956 }

(b) 1925 '
(c) 1930
(d) 1945
‘ |
26~

@

©

Aryabhatta was a great

(a)

Economist

(b)

Warrior

(c)

Astronomer

King

Which of the following is not correct

about Preamble ?

(a) Itis part of the Constitution.

(b) Itisnot part of Constitution.

It speaks about ideals and objects,
which it aims to establish and

promote.

None of these

(d)

Civil Disobedience Movement in India

was started in the year

(b) 1925

(d 1945
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87.

88.

89.

FowsSBE WOTL . BB,

(a) bewom

(b) 08

(c) Se¥

(d) URJ’JQOGD

3,8 £00IRTY, .
TN,

(a) QNP

(b) T/
© ket

(d) €we30x

FINIINTE), go0sT B, T3 FooF B3R
(a) eBpcs 238,

(b) 8edF 35,

(c) TosHRed 38,

(d) zegperded LT

(b) Seze¢
©)  ompmwRs
d) ez

87.

89.

=37~

rt S situated in
thota po
Hamban

@ 5" Largt

(b)
(© Nep!

India

Australia

(d)

The site of respiration in bacteria 18

(a) Episom¢
(b) Plasmid

(c) Mesosome

(d) Cytoplasm

The following is the highest Gallantry

Award in India :

(@) Ashok Chakara

(b) Kirti Chakra

(c) Paramaveer Chakra

(d) Sarvottam Chakra

Harappa is situated in
(@) Pakistan

(®) Nepal

(¢)  Afghanistan

(d) Bhutan
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(©) n® Resswob, 0% xgoF O

(d) SnoepsQ, e,  POUI
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91. ATIORVY, 2wy
(a) & aex (S
(b) o (AexT og @)
(€) wOBD A6 (Mm,Fex)

(d) 202 (2633 RS, )

92. Bpedm-19 womd
(a) 23,3200
(b) Bmeroes (Foxr)
(c) _@,M@Bﬂ%ﬁ

(@) SRNVY,ARITR s,

S28=

90.

91.

92.

Pradhan Mantri Gram Sadak Yojana

Comes under which Ministry ?

(8)  Ministry of Rural Development,

Govt. of India.

(b) Ministry of Environment and

Forest, Govt. of India.

(¢) Ministry of Home, Govt. of India.

(d) Ministry of Urban Development

;]

Govt. of India.

Lead pencil contains
(@) Pb

(b) PbO

(c) Graphite

(d) PbS

COVID-19 is
(a) Bacteria
(b) Virus
(c) Insects

(d) None of these
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94.

95.

96.

SePoIF, ATIY, DFOR. '9
3-

(a)
(b)
©
(d)

ATTF AR 0 Fe3ed B[ az3. 94

(a)
(b)
(©
(d)

03, LOTE CLEToZT X 3,03%38 P38 95.
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(b)
(c)
(d)

rodzog, Qowdd

XoWOPRT.

(a)
(b)
(c)
(d)

FOSR* QoL
ROIR* psone
oSkt wEO
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6 IReENSL
5 IIJFNL
4 SIFNL

3 JHFNEL

.
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2,000 38

ZRBREBT
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oQwo3

YNYE, oIhITER ¥ :
_29-

ﬂﬁfj 0335% . 96.

Term of Office of the MLC is

(a) 6 years
(b) 5years
(c) #4years

(d) 3 years

Structural and Functional unit of the

kidney is

(a) Neuron
(b) Nephron
(¢) Boron

(d) Alveoli

Oncology is study related to.
(@) Cancer

(b) Fever

(¢)  Arthritis

(d) None of these

Latest Sarkari Jobs, Govt Exam Results, H
£ Kirrrvar NMave



9.

98.

99,

100.
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(a) Iosbmemd
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(a) ey

(b) =N,
() weomIes
(@)  wmpms

.’f@d @ﬁ ?. h.

970

98,

99.

100.

Majuli Island js part of which State 2
(@)  Tamij] Nadu |
() Kerala

(c) Meghalaya

(d)  Assam

Expansion of CID.

(8 Criminal Intelligence Department
(b) Criminal Investigation Department

(¢) Crime Investigative Department

-(d) Crime Intelligence Department

GDP means

(@ Good Development Property
(b) Gross Development Produce
(c) Good Digital Product

(d) Gross Domestic Product

Which of the following shares the
smallest border with India ? '
(a) Nepal

(b) Myanmar

() Bangladesh

) Afghanistan
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Instructions ¢ Candidates
, Time : 90 Minutes

The question paper contains 100 questions, Aty questions carry equal marks. Each question
carries 1.00 mark. 0.25 mark for €VETY Wrong answer shai1 be deducted.

Please enter your Application Numbﬁr, Roll Numbq, Question Paper Series and the number of
questions attempted in appropriate boxes nyq;gr answer sheet. Also ensure that your left hand
thumb impression is affixed on the OMR sheet. Your signatiire and your room invigilator’s signature
should be there on the Answer Sheet. c ‘

Write down clearly the Question Booklet version code (A,B,C,Dor E) as the case may be in
the appropriate space provided for the purpose in the OMR Answer Sheet.

Please mark your answers only on the OMR sheets provided. Use Black or Blue Ball Point
Pen only. Candidates can take a copy of their answer sheet with them after the examination.
Overwriting, marking multiple answers will be considered as wrong answers and 0.25 mark will
be deducted for each such answer. Leavinga question unanswered will get zero mark.
Candidates involved in copying, discussigh,\'ﬁ;itl-( other candidates and other disruptive activities
will be ‘debarred’ from the examination.

Mobile Phone, Calculators, Pagers or any such gadget will not be allowed inside the examination
hall.

Doubits regarding any question / answer in the booklet may be checked with the English version
for clarification. Candidates are not allowed to leave the examination hall till the examination is
over.

Any mistakes in the question Paper like prinfing mistake, page interchanged, repetition of c'luestions,
any page missing or any other discrepaﬁcies may immediately be brought to the notice ofthie
room mnvigilator. Room invigilatoy shal] jssue necessary clariﬁcatmn in thlf. regard: Candidates
should get clmﬁcation of such mistaye ; 1 the examination hall itself otherwise candidates would
be held responsible.

Questions are printed both in English and K annada. Ifany confusion all'ises in the Kannada V'ersion,
please refer to the English Version q note hat in case ofany confusion the

English Version of th : ’
Immediately after t};, g;;sltgnl?.ooklet is final etion of the examination, stop making any
further marking in the OMR & Indicating the o ed to remain seated at your place till

OMR Answer Sheets ofa]] SWer Sheet. Youare e hall are collected by the invigilator and

© Candidages present i invigilator
thereafter you can leaye exammatisrtle}fﬁl 3 itted by the InVIgLa

— — — — — — —— — — —
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